Global Systems and Global Governance Booklet 10
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Key Terms
TASK:  Match the key terms to the correct definition.
Offshoring			Glocalisation			Outsourcing
Westernisation		A transnational  company
____________________________ (TNC) is one that operates in more than one country across the world.

______________________ is where a business makes a contract with another company to complete some of the work.
______________________ is where a company moves part of its operations to another country.

______________________ - to adopt or be influenced by the systems of the West.

______________________ means adapting the goods or services of a business to increase consumer                         appeal in different local markets.
· TNCs are important agents of global change.  
· Along with trade blocs, they can be described as ‘architects’ of globalisation, helping to ‘build bridges’ between nations.
The uneven geography of TNCs
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[image: ]TASK:  Using the map and graph give evidence to illustrate the uneven geography of TNCs.















TASK: Using your pre-work give reasons for the growth of TNCs.






Using the figures below explain how TNCs create global division of labour.









Global Division of Labour
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TASK:  Analyse Figure 1 the organisation of BP’s global business.

















The role of Transnational Corporations
TASK:  Use the words below to complete the missing blanks.
· Transnational corporations (TNCs) are agents of global change.  They link together groups of countries through the production of goods.  e.g. Large ______________ use parts sourced from many countries to contribute to the finished product – cars, computers etc.
· TNCs also forge connections between people in different countries by shaping common patterns of _____________ e.g. Global entertainment brands like Disney or food retailers such as McDonalds.
· TNCs are sophisticated and complex.  They invest in internationally (Foreign Direct Investment -FDI).  They expand through _____________ (buying and taking over other companies) and _________ (joining with rival companies).  They also use sub-contractors to manufacture products (e.g. Disney does not produce it’s own toys/clothes etc.)  Many household names are now owned by larger companies (e.g. Disney owns Marvel Comics and Lucas Arts).
· TNCs are helped and hindered by _______________ who can either make it simpler for TNCs to invest/imported or can complicate the process.
· they use ________________ as their strategy, which has resulted in a series of arrangements called a global production network.
· Still others may choose to maximise profits by adapting their products to suit local tastes – this is called _______________.

acquisitions			assembly industries		trade blocs		mergers
glocalisation			consumption			outsourcing		

TASK:  Can you think of any examples of glocalisation?







TASK:  Watch the clip and make notes on glocalisation.

http://estream.godalming.ac.uk/View.aspx?ID=7294~4w~y2CooOix









Linkages, trading and marketing patterns
· One feature of TNCs is the ability to expand and gain more control of their industry and markets.  They do this by integrating different parts of the business through investment, takeovers and mergers.
· There are two types of integration:  Vertical Integration and Horizontal Integration.

TASK:  Using examples, make notes to explain Vertical and Horizontal Integration from Hodder textbook p308.










TASK:  Produce a table to show costs and benefits of TNCs to the Host Country, the TNC and the Origin Country.












TNC CASE STUDY APPLE
TASKS:
Watch the chapter and make notes on reasons for Apple’s success. http://estream.godalming.ac.uk/View.aspx?id=10740~59~q4KlSEorW8







[bookmark: _GoBack]Watch the programme and make notes on the criticisms of Apple’s manufacturing in China.
http://estream.godalming.ac.uk/View.aspx?ID=10650~59~q4KlSDosW8

















TASK:  Produce a key to highlight/underline positive and negative impacts of Apple as you read the text.
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TASK:  CASE STUDY RESEARCH APPLE - Produce your case study on separate paper.
Read the extract ‘Apple Inc a TNC’ Hodder textbook p309-312.
Produce a case study detailing:
· Background to Apple
· Reasons for its success
· Spatial organisation and locations of employees
· Production location and reasons for this location
· Impacts on countries in which it operates including Ireland, Tax Practices, China, US (see extract above) and environmental issues.
Use the Apple case study to identify any evidence of the impacts of globalisation under the following.
Benefits of:
· Growth
· Development
· Integration
· Stability 
Against the costs in terms of 
· Inequalities
· Injustice
· Conflict
· Environmental impact

The changing nature of 21st century TNCs
· TNCs no longer just originate from more developed regions.
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Geographical consequences of global systems and the impacts of globalisation
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TASK:  Using Hodder textbook p316 make notes on the main beneficiaries from the process of globalisation under the headings below.
· Newly industrialising countries





· Transnational corporations




· International organisations





· Regional trading blocs




Geographical consequences of global systems and the impacts of globalisation
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TASK:  Use the information above to assess why the role of TNCs in aiding development can be viewed both positively and negatively.







Social & Cultural and Environmental impacts of globalisation
TASK:  Using Hodder textbook p317-318 make notes on the social & cultural impacts (p317) and environmental impacts (p318) of globalisation.





















Extension Tasks/Further Reading
· Read course Tutor2u companion no. 55 TNC’s. (on GOL)

· Read Geography Review ‘Globalisation: a risky business’ and answer the questions for discussion 1, 2 & 3. (GOL)
· Read Geography Review ‘TNCs, the geography of ownership, profit and identity’ and answer the questions for discussion 1 & 2. (GOL)

Exam Questions
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· Using Figure 3 and your own knowledge, assess the impact TNC’s have on a global and national scale. (6 marks)
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November 2013
Apple closed its last American computer
assembly plant in EIk Grove, California, in
June 2004, having by then shifted much of
its production to contract manufacturers in
Asia. By then, the company had given up
making its own products and outsourced
the work to sub-contractors such as
Foxconn.

But bad publicity surrounding the
treatment of workers at the plants owned
by Foxconn and other companies operating
in China have led Apple to take more
control over production.

"Apple will have an incredibly positive
economicimpact for Arizona," said
governor Janice Brewer. "Their investment
in renewable energy will also be greening
our power grid, and creating significant
new solar and geothermal power sources
for the state.”

Child labour uncovered in Apple's
supply chain

Apple passes gas fims with record
$18bn quartely profit

January 2015
Apple has smashed into the record books

by reporting the largest quarterly profit in
corporate history. The tech company —
already the most valuable on the stock

market — reported profits of $18bn (£11.9bn)
for the third quarter of the fiscal year,
surpassing the previous record quarters

set by oil companies ExonMobil and Gazprom.
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Section A

Global systems and global governance

Answer all questions.

o

Explain how one transnational corporation (TNC) has contributed to the globalisation
of the world’s economy.

[4 marks]

Question 1 continues on the next page
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Figure 3 Top economic entities around the world, 2016

1.3.  Using Figure 3 and your own knowledge, assess the impact TNCs have on a global and national scale. 6 marks
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Global Systems and Global Governance
« The nature and role of Transnational corporations (TNCs).
« Analysis and assessment of the geographical consequences
of global systems to consider how international trade and
variable access to markets impact on students’ and other
peoples’ lives across the globe.

Learning Objectives:
*To be able to describe the characteristics of a TNC and discuss their costs and
benefits.

*To be able to detail the practices of one particular TNC in detail.

*To be able to acknowledge changing nature of 21t century TNCs - they no longer
just originate from more developed regions.

*To be able to discuss the advantages and disadvantages of globalisation.

e terms:
™G Westernisation
Outsourcing. Glocalisation

Offshoring
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